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Tackling Source Stability
Laser Output PBS Ports, Oct 7th Overnight

8
o

Coincidences

Transmission Port [mW]

A0
3800 -
250 4
3600 -
N ~
I =
2 2009 2 3400
€ =
3 E
3 2
S [}
g g
2 g
@ @ 3200 4
r F4.24 150 4
0.07 4
\H 3000 4
100 4
’ 2800 4
00604 | |
L4.22
0 25 50 75 100 125 150 175 0 25
Time [Minutes]
0.05 «
o 200 A
0.04 4
175 A
0.03 4 '

m
|
|
| :
|
l ' 5 150
I I
| §
3 1254
o
: ]
c
< 100
0024 £
F4.16 S
75
T T T T T T T T 50-
0 25 50 75 100 125 150 175
Time [Minutes) 25 4
0 25




Singles

First, try adding PBS to Laser

Laser Output PBS Ports, Oct 11th Over weekend z g )
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Next, add Polarization
controllers to laser.

Power [mW]

Laser Output PBS Ports, Oct 14th with controllers on Laser

0.686 A

0.685 A

0.684 A

0.683 A

0.682 A

0.681 -

0.680 A

0.679 A

—— Transmitted Port

500

525

550

575 600
Time [Minutes]

625 650 675

220 A

200 -

180

Coincidence Counts [Hz]

120 A

100 A

80

00000

00000
N

00000

o
o
4
£l
g
@
18000
17000
000

Coincidences

160 -

140 A

550

575

600

Time [Minutes]

625







inally, use SHG power as

eedback signal.

Laser Output PBS Port, Oct 18th with SHG Feedback

0.845 -

0.840 -

Power [mW]
o
©
w
w
)

0.830

0.825 A

—— Transmitted Port

500

525

550

575
Time [Minutes]

600

625

650

675

Singles Counts [Hz]

1200

1180

1160

1140

1120

1100

A0

Singles

DO

1350

1300

1250

1200

Singles Counts [Hz]

1150

1100

500 525 550 575 600 625 650
Time [Minutes]

500

525

Coincidences

550 575 600 625
Time [Minutes]

150 4

145 4

140

135 4

130 4

Coincidence Counts [Hz]

125 4

120 A

115 4

500 525 550

575 600
Time [Minutes]

625

650 675




